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® 4x(-4) @ (-2)x (+8)
@ (-14) - (+2) @ (-32) + (-4) x (-2)

D 4x(-4)=-16

@ (-2)x (+8) = -16

® (-14) + (-2) = -16

@ (-32) + (—4) x (=2) = (+8) x (-2) = —16
® (-1) x (+16) x (1) = +16
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@) (=6)x 2+ (-4) @ (-24) = (-8) x (-1)
® 18+ (-6) @ (-5) x (-3) = (-b)
® 27+ (-3) = (3)
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D (-6) x
@ (-24) + (
® 18+ (-6) = -3
@ (- )><(3)—(5)
® 27+ (=3)+ (3) =

+(-4) =3
8)x(-1) =
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D 0.05x% @g% ® 0.5x%
@ 5x% ® 50x%
= x100=2%

500 )
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T %100 = — %100 = ==
280 20 < 100 = 300 X 100 = F(%)




ohe A2 AISte] Ax+ B B2 1S T A+ B © g Fotele
2(1-x) 5-3x

BEuZ 6o SH,
4(1-x) 3(5-3x) 4-4x 15-9x
0 0 _(46—4x)—(1%—9x)
_a-ax-Thiox
_5x—116
) 0 11
66
A=2B=-%
5 11
A+B=g-—=-1




oA 3x% — x + 2 of tisto] A5 g, x S AE

S, a+b+c 9 F2?

o2 @3 ® 4 @ 5

k4] 3x2 — x + 2 of ti5}od
a=2,b=-1,c=209%|B&,
at+b+c=3




8.

717}

f
8
S
i)
nst
=
Q
S
1o
g\!
mlo

e T A 8

i

3 1
1=04x =5 +0.1x, 0.3(2x~4) = 5 (3~ 62)

=
=

3
> ®E:a= -3

B

10-4x=15+x

—4x—-x=15-10
—bx=05, x=-1
soa=-1

3(2x —4) = 5(3 - 6x)
6x—12 =15 - 30x
6x + 30x = 15 4 12

36x = 27, x=§
3
b= -—
4
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(3x—1) = 4(1 — x) 4 10 °]t}.
A7l 15x -5 =4 - 4x + 10

x & T L AMOR, 4TS $HoR olFstu
156x+4x=4+10+4+5

19x =19

kA x =1 °|th.
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